
＝

90

⑫

⑨

160

200

3

9646

5055+4591

160

⑪

5÷

800 ÷ 5

400

②

③

320 ÷④

⑤

4 15

☆暗算で計算しましょう。

① ＝ あまり

⑥

÷ 2

2

7073-618

⑦

⑧

7423-1171

14 × 8 ＝ 112

15 × 6 ＝

7

＝

＝

91
3988+3984

あまり 1

63 ÷ 5 ＝ 12 あまり

18＝

3 6596063

7972

÷

4

⑩

114902

61

⑤

×

4728

54
× 0
4820

⑦ 6
×

8

⑧

0

4508

⑥

④

1

8
6

9

1
8 × 5
7 ②

776

2

9
×

7

9

　４年　計算　プリント 組

☆筆算で計算しましょう。 ☆筆算で計算しましょう。

名前

① ①②
24 11

355

9
× 4

③

5 0×

3 7 2 8

4600

4

5 0 9

0

9 2

5

③ ④
95 101

7 6 6 9

4 4

×

6455 6252

9 6

8 5
7 7

5

7 8


